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Read the following passage and answer the questions: Tne story of Joanne Kathleen Rowling's near magical rise to fame is almost as wel 
known as the character she creates. Rowling constantly used to write and tell stories to her vounger sister, Dianne."Tne rSt story I ever wrote was about a rabbit". she said in an interview. The rabbit suTrers trom measles and he is helped by a bee and so on, which was too imaginative. A writer from the age of six, with two unpublished novels, in the drawer, she was Stuck in a train when Harry walked in to her mind fully formed. She spent the next Ve years, Constructing the plots of seven books, one for every year of his secondary SChooi life. 

Rowling says, she started writing the first book, "Hary potter and the sorcerer's stone in Portugal", where she was teaching English. 

Give a proper title to the passage in just 2 words. 

At first, nobody wanted to publish Harry Potter. She was told that the plot was to0 complex. Refusing to compromise, she found a publisher. 

Which story did she write the first time and how was it? 

In 1997, Rowling received her first royalty chegue. By book -3 she had sky roCKeted, to the top of thpublishing world. A row of zeroes appeared on the author bank balance and her life took a good turn. Day and night she had journalists knocking on the door 0i ner flat. She became a remarkable figure in the field of literature. 

Meaning of complex, compromise 

Which is your most favourite book and why? 
Meaning of the idiom 'To take a good turn' 

Read the poem passage and answer the questions; 

Date: 25/7/24 
Mark: 50 

Two roads diverged in a yellow wood 
And sorry, I could not travel both 
And be one traveler, long I stood 
And looked down one as far as I could 
To where it bent, in the undergrowth. 

Then took the other, just as fair 
And having perhaps the better claim 
Because it was grassy and wanted wear ; 

(10) 

Which was Rowling first book of the Harry. How and when did it happen and what was the 
reaction of the publishers? 

Though as for that the passing there, 
Had worn them really about the same. 

. (5) 

Name of the poem and the poet, from which the above extract is taken. 
Why could the traveler not travel both the roads? 

Which road did he take finally and why? 
Meaning of the phrases 
Long I stood 

(i:2; 
(1) 
(1) 

(1) 
(1) 

(1/2) 
(5) 

(1) 
(1) 
(2) 
(1) 
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Q. 9 
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Q.6 

a. 

C. 

Q.5 

b. 

Q. 4 

C. 

b. 

Q. 3 

Section -C 

a 

d 

e 

a. 

b. 

.C. 

d. 

e 

Wanted wear. 
Section:B 

Do as directed: 
we all behave 
If I don't pass in the exam 

When we are tired or hungry. (Fill in with an adverb) 

(complete the conditional sentence) 

(fill in the blanks) When something is 'Revived' it 
1am too tired to pay" Ram said and shyam replied "You can take rest for today. 
(Make it indirect) 

(write your own name and address: word limitation 15 lines ) Write a paragraph on the following topic in about 15 lines. Online education or offline education. 

Read the following extract and answer the questions. 

What made himcry and run? What does Real fear here mean'? Meaning of 'Jerk, Wailed' 

y parents tell me to obeyed the rules of the school, which I did not and then I get one of 
the worst punishment ever. (ldentify any 2 errors and Rectify them) Vwrite a letter to your friend, who is too much into social media, advising him to coie out it and divert his attention to studies and family. 

Which character/ quality of the boy comes out through this extract? How should he have reacted to that situation, according to you? Answer the following questions in about 10-12 lines. (any3) A (3) What message do we get from the poem 'wind'? How different was Tommy from Margie? Why did Margie like old kind of schools? 
Answer the following questions: (any 2) (10-12 lines) Explain the reactions of the child before and after getting lost in the fair. 

A full deep cry rose within his dry throat and with a sudden jerk of his body, he ran, from where he stood, crying in real fear, Father, Mother'. Tears rolled down from his eyes, hot 
and fierce. He ran hither, thither and wailed loudly. 

Why was Toto sold back, by the grand father? Describe the Pullao incident. 
Answer the following value - based question. 

Slate 

(1/2) 

(Give a title for your paragraph) 

(1) 
(1/2) 

**************** 

(5) Se 

(2) 

(5) 

(1) 

(5) 

(25) 

How was evelyn's childhood? How did she becomne a great musician? How did she help 
the society? 

(5) 

(1) 
(1) 

(1) 

(6) 

(2)0) 
() 

(5) 

(4) 

Based on the lesson The fun they had write a paragraph of about 15-18 lines on how education can bring a great development in students and on the other hand how illiteracy can block the future of a child. 

(5) 

Based on the esson' The adventures of Toto' Write a letter to your cousin, who hates animals, advising him to love animals, protect and take care of them, but at the same see that the animal don't become violent and terrorise the society. 



Std. lX 

Time: 2 hrs 
Q:1 

1) Why was the subsistence crisis caused in France ? 

d) 

1) Gujarat 
Options: 

a) 

Multiple Choice Questions : 

2) The Tropic of Cancer passes through 

3)) Assertion (A) : 

) 

c) 

4|50 

1) 

2) 
3) 
4) 

.a) 

Options : 

b) 

The wages of the people were low. There was wide-spread unemployment. 9 Increase in population led to rapid Increase in the demand of food grains. The government imposed various taxes. 

Reason (R): 

a Great Britain 

b) 

Periodic Assessment -|: 2024 - 2025 

a) 

c) 

Holy Angels' School 

Which of the following is not a democracy? 

Options 

Myanmar 

2) 

Mirabeau 

(1 & 2) 

A is true but R is false. 

6) Arrange in correct sequence: 

Sub. Social Sclonco 

A is false but R is true. 

5) Whose name is associated with the Reign of Terror ? 

Madhya Pradesh 

a Both A and R are true and R is the correct explanation ofA. 

Napolean Bonaparte 

Both A and R are true but R is not the correct expanation of A. 

a) 

c) 

b) 
(1,2,3, 4) d) 
Representative government consider the most common form of democracy. 

Farmers set up tubewells for irrigation. 
Production of wheat increased 
Indian farmers began to use HYV seeds. 

To dethrone the King. 

4,3,1,2 

b) 

3,1,2,4 

3) 

(3 & 4) 

d) 

To limit. the powers of the king. 

The Green Revolution occured in the late 1960s. 

d) To make the king more powerful. 

None of the above 

Jharkhand 

Canada 
India 

7) What was the main objective of the Constitution of 1791 ? 

Robespierre 
Dr. Guillotin 

To limit the powers of the clergy and the nobility. 

Date : 24 / 07 1 24 
Marks: 50 

d) 

4) 

.1,3,2,4 

Rak Joafn 

(10) 

2,3,4,1 

West Bengal 

HAS IX S.S. Pg 1 

People in democracy can sit together and take decisions collectively. 



Q:2 

8) Where are Maldive lslands situated ? 

Q:3 

a To the South of Lakshadweep. 
b) 
c) 

c) 

d) 

b) 

d) 

9) What is the main reason behind growing three different crops in a year in Palampur ? 

e 
b) 

d) 

To the North of Lakshadweep 

a) The village has fertile land. 

To the North ofAndaman and Nicobar lslands. 
To the south of Andaman and Nicobar lslands. 

10) Assertion (A) : 

The farmers are very hard working. The village has a well developed system of irrigation. The farmers get enough rain during rainy season. 
Reason (R): 
Options: 

Both A and R are true and R is the correct explanation of A. 

Questions: 

The Indian desert is an undulating sandy plain covered with sand dur They lie towards the western margin of the Aravalli Hills. 

Both A and R are true but R is not the correct expanation of A. A is true but R is false. 

Answer in short: 
A is false but R is true. 

What was Tithe? 
2 What is meant by Indian Standard Time ? Why do we need a standard meridian for India ? P(3) Which party of Zimbabwe led the struggle for independence? 9 Name any two non farming activities in Palampur. The state of Meghalaya forms a part of which physiographic division of India ? e In which book did Rousseau mention the idea of one person, one vote ? Case Based Questions: 

Read the given passage and answer the questions that follow: Kishora is a farm labourer. Like other such labourers, Kishora found it difficult to meet his family's needs from the wages that he received.A few years back Kishora tooka loan from the bank. This was under a government programme which was giving cheap loans to poor landless households. Kishora bought a buffalo with this money. He now sells the buffalo's milk. Further, he has attached a wooden cart to his buffalo and uses it to transport various items. Once a week, he goes to the river Ganga to bring back clay for the potter. Or sometimes he goes to Shahpur with a load of jaggery or other commodities. Every month he gets some Work in transport. As a result, Kishora is able to earn more than what he used to do some .years back. 

PIWhat is the fixed capital of farm labourers like Kishora ? L2 In how many other activities,are farm labourers involved ? 
9 Would you say that Kishora has benefitted from better roads in Palampur ? 

(1) 
(1) 

(2) 

(6) 

HAS IX S.S. Pg 2 

(4) 



L:4 

Q:5 

Q:6 

Short answer questlons: 1) State any three factors which contrlbuted to the financial lcrlsis in France in the 18th Century ? 
35 Why are Northern Plains agriculturally productlve parts of Indla ? Explaif.7 
3) What is meant by Green Revolution ? Mention any three features of Green Revolution. 4) Explain the major reasons for the two hours time difforence in local time between Arunachal Pradesh and Gujarat. 

Long answer type question: 
statement. Y"Democracy is better than other types of governments." Give reasons in support of this 

What is the role of citizens in a democracy. 
OR 

2) In what way are the Western Ghats different from the Eastern Ghats ? 

OR 
What are the characteristics of the Himalayan mountains. 

Jesorn Deep k Ja?n 

2) The Western and Eastern Ghats. 

3 The Capital of Madhya Pradesh. 

3Y Describe any five features of the Frenxch Constitution of 1791 7 
On the outline map of India. Label the following with Index and symbol : 

The Standard Meridian. 

HAS IX S.S. Pg 3 

(12) 

(15) 

(3) 
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v) 
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I) 

i) 

ii) 
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34/so 
Std. IX 
Time : 2 hrs 

General Instructions: 

a 

This question paper has 5 sectionsA-E 

c) 

a) 

1) Section A has 4 MCQ carrying 1 mark each. 

Periodic Assessment -|: 2024 - 2025 

3) Section C has 6 questions carrying 3 marks each. 
2) section B has 4 questions carrying 2 marks each. 

in this question. 

Choose and write the correct option in the following questions: 
Y Every rational number is 

4) Section D has 4 questions carrying 4 marks each. An internal choice has been provided 

a natural number 

a real number 

Point(-3, 5) lies in 

Holy Angels' School 

5) Section E has 1 cash based integrated unit of assessment (4 marks) with sub-parts of 
the values 2,1and 1 mark each respectively. 

2) The equation x=9 in two variables can be 

Q wWrite 

1x + 1.y = 9 

0x + 1.y = 9 

lquadrant 

Sub. Mathematics 

lquadrant 

Equal 
c) twice of each other 

Express 0.3 in the form of 

13 

Section A(4 Marks) 

b) 

d) 

Write any two Euclid's postulates. 

b) 

d) 

d) 

Ifequals are subtracted from equals the remainders are 
b) 

integers 

d 

a whole number 
written as: 

x+ 0y = 9 

0.x + 0.y = 9 

Il quadrarnt 
IV quadrant 

unequal 
half of each other 

Section B (8 Marks) 

a a In which quadrants is the ordinate of a point is positive. 
Find whether (V2,3/2) is a solution of the equation x - 3y = 9 or not. 

y Find the distance of a point P(5, 7) from Y - axis. 

Date: 27 / 07 / 24 

Marks : 50 

Section C (18 Marks) 

IX h D 25 

in decimal form and find what kind of decimal expansion it has. 
0-230969 

HAS X Maths. Pg 1 



Q0 In the given figure ifAC = BD, then prove that AB = CD 

Q:12 

g1 Simplify each of the following with proper justification : 
Y172. 175 

Q:13 

Q:1 

1 

H 

A 

3 

Find the coordinates of the point: 

B 

9 s 

PO = 

5 

If the point (2k 30, k+ 2) lies on the graph of the linear equation: 

Which lies on both X- axis and Y- axis. 
Whose abscissa is 5 and lies on X -axis 
Whose ordinate is �4 and lies on Y -axis 

2x + 3y + 15 = 0. Find the value of k. 

(�4, 2) (-6, -5) 

Simplifiy : 

Ta 3 

5-3/2 

In which quadrant or on which axis does each of the point lies. Verify by plotting them on graph paper. 

If pointO lies between the pointP and R. Such that PO = OR then prove that 

Rationalise the denominator of the following: 

(0, 4) 

Section D(16 marks) 

x 

(0-2304 64 kk 

Write any two solutions for the equationsa - 2y = 4 42-y+ 
OR 

If 2 x 4* = (8) (32)/5, then find the value of x. 

2 43y t15o 

HAS IX Maths. Pg 2 



49 Case Base Study: SectionE (4 Marks) 

Observe the graph given and answer the following questions : 
In the above graph ABCD is a rectangle. Now, 

Write the coordinates of points A, B,C and D.(2 
Find distance of point A from Y-axis. + 0 

i) Find I(AB) and (BC) ,8 

HAS DX Maths. Pg3 

(2) 
(1) 
(1) 



Std. lX 

Time:2 hrs 

Q:1 

Blo 

Q:2 

Choose the correct option: 
a) 

2) The 

c) 

1) The slope of velocity � Time graph gives 

32]60 

the distance 
the acceleration 

Holy Angels' School 
Periodic Assessment-|: 2024 -2025 

equation S = ut + 

a) m 

a) 

a) zero 

b) 

First equation of motion 
third equation of motion 

3) Retardation ofa body is expressed in 

2) Assertion (A) : 

1 

Reason (R): 

2 

Answer the following questions: 

b) 

Sub. Science 

Physics17 M 

1) Define uniform acceleration. Give an example. 

Ais false but R is true. 

the acceleration and 

is known as the 

ms 

5Y Analyse the equation: 

b) 
d) 

3) Distinguish between Speed and Velocity. 

d) 

4) A particle is moving in a circular path of radius 'r. The displacement after half a circle would be 

a = 

the displacement 
the speed 

The velocity of a body is a scalar quantity. 

OR 

none of the above 

A vector quantity has both magnitude and direction. 
Both A and R are true and Ris the correct explanation ofA. 
Both A and R are true but R is not the exact expanation of A. 
A is true but R is false. 

second equation of motion 

-me-2 

2r 

Dstinguish between Distance and Displacement. (any 4 points) 

5 the distance covered by the car in that time. 

(any 4 points) 

tth 25 

Date: 22/07 | 24 
Marks: 50 

4) A car accelerates uniformly from 18 km h -! to 36 km h -l in 5 sec. Calculate: 

d) 

(2) 

4 

(1) 
(1) 

(4 (2) 

(3) 

(2) 

6) During an experiment, a signal from a spaceship reached the ground station in five minuts. 
What was the distance of the spaceship from the ground station ? The signal travels at the 

speed of light, that is 3 x 10 m.s-l 

HAS IX Sci Pg 1 



Q:1 

1) 

7) Interpret the following graph: 

a) 

c) 

A’ B 

a) 

Find acceleration between: 

B ’C 

c) 

b Total distance. 

Multiple Choice Questions : 

a) A < B<C <D 

2 

c) C< B <A <D 
2) As the solid melts to form liquid, 

compressibility increases 

Melting points of four solids A, B,Cand D are 388 K,54 K,290Kand 600 K respectively. The Interparticles forces of attraction are in the order: 

wind speed 
Humidity 

5 

Ammonium-chloride 

M 

Solid carbon-di-oxide 

the kinetic energy of particle increases 

5) Assertion and reasoning : 

Assertion (A) 
Reason (R) 

Chemistry 17 M 

by 
d) 

3) Which of the following does not affect the rate of evaporation ? 

b) 

15 

--Time () 

b) 

b) 

4) Which of the following does not undergo sublimation ? 

d) 

20 

B < C< A < D 

B<D < C<A 

Temperature 

Interparticle forces of attraction decreases. 
d all of these 

Insoluble impurities 

Sodium chloride 
lodine 

(2) 

(2) 

(1) 

(2) 

Apunctured tyre becomes flat more easily in summer than in winter. 
fncrease Rate of Diffusion deereases with temperature. 

HAS IX Sci Pg 2 



Q:3 

Q:7 

ne (any 2): 
) Lataat heat of Fusion. 2) Diffusion 

3) Evaporation 

Give reason for the following: 1) After a hot sunny day, people sprinkle water on the roof or open ground. ,2) Why does a desert cooler not cool better on a wet rainy day? 

scale ? 

"3) 

lve three reasons to justify that water is a liquid at room termperature.|/2 Agas jar'X containing air is inverted over another jar "Y' containing a brown gas. Which is 
(2) 

heavier than air, after some time brown colour is also observed in the gas jar 'X.ldentify the phenomenon associated with this observation and define it. QI6 a) The boiling point of alcohol is 78° What is its corresponding temperature on the Kelvín 

Interpret the graph and answer the following questions: 

aa) 3) 

70 

60 

b) Name the property of gases which makes it possible to inflate a large number of balloons from a small cylinder of Hydrogen gas. 

30 

tit 

(2) 

c) Why does the temperature remain constant during the change of state of matter? (1) 

A 2 

(2) 

1) ldentify the points on the Graph where change of state is taking place. 

(13 

2) What should be the temperature of the liquid on further heating aftert, ? 

(2) 

(1) 

(1) 

(3) 

-292 

time 

(1) 
(1) 

HAS IX Sci Pg 3 
Can you identify the name of the liquid from the graph given above ? Justify your answer. (1) 



Q:1 

Q:2 

1) In summer, leaves of a potted plant droops when the soil becomes dy. Which cell organe makes the leaves to droop ? 
a) 

b) 

a) 
c) 

a) 

Multiply choice questions: 

2) Proteins are synthesised near the endoplasmic reticulum, where are these proteins transported 

b) 

d Vacuole, as it loses all the water. 

b) 

further in the cell? 

d) 

d) 

a) 

Nucleus, as it stops making DNA. 
Lysosome, as it is releasing the digestive enzymes. Cell wall, as it starts to shrink. 

A) 

to mitochondria 

3) Anil has bacterial infection. Which part of the cell will help him to eliminate bacteria from his body and how ? 

to the nucleus 

C) 

4) Living cell were discovered by 

y Lysosomes as they have digestive enzymes to breakdown foreign material. 

Assertion (A) : 
Reason (R): 

BIOLOGY 16 M 

Golgi bodies as they can destroy their own cell. 

Robert Hooke 

Vacuoles as they can takeup any material and store it. 

Leeuwenhoek 

Vacuoles as they can expel substance out of the cell. 

b 

d) 

A is false but R is true. 

NBucleus 
Lysosomes 

to Golgi body 
to the cell membrane 

Both A and R are true but R is not the correct expanation of A. cY A is true but R is false. 

Vacuoles 

Golgi complex 

b) 

d) 

Both A and R are true and Ris the correct explanation ofA. 

W) 

The cell membrane is a dead part of the cell. 

1-Z, 2-X,3-W,4-Y 
1-W,2-Y, 3 -Z,4-X 

Purkinje 

If cells of onion peel and RBC are separately kept in hypotonic solution, what will happen to each of them ? Explain the reason for your answer . 

Robert brown 

It regulates the movement of materials between the interior of the cell and the outer environment. 

What is plasmolysis ? Give one example for the same from our daily life. Draw well labelled diagram of plasmolysed cell. 
Identify the correct pairs of the cell organelle and their function from the following. (2(0) Sr. No. Cell Organell 

(2) 

Function 
produces lysosomes 
Maintain the osmotic pressure of the cel. 
Control on cell division 

Immune system 

(1) 

D) 
1-Y,2-Z, 3-X,4- W 

(2) 

(3) 

1-X,2-W,3-YfÄS IX Sci Pg 4 



Differentiate between RER & SER. 

Q:8 

.T a SrasS looks green, papaya appears yellow. Which cell organelle is responsible for different colours. plosto) 

Draw a plant cell and label the parts which: 

Jesom Deepcik Ja?n 

9) Give two eXamples of organisms in which a single cell performs all the functions. (A) (ieoba 

Y packages materials coming from the ER. GB 

(A) 

HAS IX Sci Pg 5 

(3) 

i Provides resistance to microbes to withstand hypotonic external media without burstingl 
i)\ is site for many biochemical reactions necessary to sustain life. (ytoplaS 
iý determines the function and development of the cell. 

yeast 



) 

2) 

3T) 

8) 

) 

8)... 
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’ ?) 

3) 
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x) 

’3) 

4||50 
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Time: 2 hrs. 
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R) 

) 

) 

) 

R) 

a) 

) 

?) 

3) 

?). 

Gs'T (ya faHT- ?TU) 

f 3UR 

(R. 

(x) 

(3) 

(3) 

(3) 
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ii) 

3) 

a) 
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(E) 

( 
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